Decay mode Yield Fitted mass Corrected mass  Resolution
[MeV/c?] [MeV/c?] [MeV /c?]
JhpmT 25181 £ 217 6273.71 = 0.12 6273.78 = 0.12 13.49 +£0.11
J/w mtn—nt 9497 + 142  6274.26 + 0.18 6274.38 +£ 0.18 11.13+0.18
Jhppprt 273+ 29 6274.66 £ 0.73  6274.61 £ 0.73 6.34 £ 0.76
JWDF(KtYK—n™) 1135+ 49 6274.09 + 0.27 6274.11 & 0.27 5.93 £0.30
JW DF (ntr— ) 202+ 20 6274.57 = 0.71 6274.29 £+ 0.71 6.63 = 0.67
JAp DY (K—nt)K+ 175+ 21  6273.97 + 0.53  6274.08 £+ 0.53 3.87+£0.57
BYDgrt)nt 316 £ 27 6274.36 & 0.44 6274.08 £+ 0.44 4.67+0.48
BY(Jhp ¢)mt 299 £ 37 6275.87 £ 0.66 6275.46 £ 0.66 5.32£0.74




